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PART - A

i i tence, the parts
s section consists of a sen
been labelled as P, QR and.S. The parts
(c) and (d)- You are required to select
correctly and mark your response on

Directions : Each of the following items in thi
of which have been jumbled. These parts have
are rearranged in four sequences, namely (), (b),
the most appropriate option that sequences the parts
the Answer Sheet accordingly.

1. participate in the function many of the people who had come.t0
P B o))
the auditorium Was over-crowded  could not find a seat because
R S

@ PRQS<L
(®) PORS<

\)FJ/QPSR

(d SPRQ

2. lay outside her existing life  she knew that the answer
P Q
somewhere in the back of hermind  to her questions about life
R ‘ S

(3 RPQS/H

(b) QSPR~

(60 QPSRA
\ KT RQSP
3 works of literature inside the pages of all good

P Q
lies the truth about some of  the more challenging questions posed by humanity

. - <
() PRQSA—
A QPRSZ”

4. L on account of 3 cconomc swseses Lo addrest contining socal nequality
’ ' Q
for every s_m'de of progress any nation it takes two back if it is unable
R S
(a) PRQSL
(b) QPRS.
(c) RPSQL

\(& RPQS.
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s, the book-value of a loan or  an intangible asset over a set period of time

P

Q

used to periodically lower ~amortisation is an accounting technique

R

SRPQ
\/gnsroA
(c) SRQP~

(d) RPS&(

S

Directions : The following items have a blank space followed by four options. Select the
most appropriate option to fill in the blank and mark your response on the Answer Sheet

accordingly.

6. There is more than to get
the job done.

\ij) one way
(b) one ways

(c) any ways
A any way

7. The class decided to organise

(a) picnic
(b) a picnic

(c) picnics

) the picnic
D thep

8. The accused before the
judge.

(a) tried

(b) was trial

\}) sat trial

(d) stood trial

9. The manner in which the c—icmplin'_ons
have been carried “out
scrutiny by the High Court.
(a) was under

\L(5) under

(c) 18 under

(d) however under

10. 1 consider the opinions of
all stakeholders before taking a final
decision.

(a) will not
\/ﬂ!) have

(c) wall

(d) shall

B - AEBC-A-GAT
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Directions : Given below are sentences that use discourse
them complete. Identify the most appropriate discourse mar
answer accordingly in the Answer Sheet :

11. your transfer request is
concerned, we’ll be discussing it at the
next meeting.

@ As far as
(b) To begin with
(c) By the way
(d) Talking about
12. , did you know Ravi has a
new job ?
A4 For one thing
By the way
(c) In the first place
(d) As aresult
13. the wind, it was getting
stronger, and I was getting colder.
(a) To begin with
(b) By the way
(c) First of all

\/(d‘)/Spmking of '

14. what are you doing in my
room ?

\};)’ On the other hand ’
(b) Excuse me
(c) Look there
(d) Eventually

AEBC-A-GAT - B

markcrs/expressions to make
ker/cxpression and mark your

an_unhappy childhood
leads to criminal behaviour.
A sl if

(b) Even somewhat

15.

In some cases
@ _’IgpLogres’sion
16. , the problem is nothing

but a wrong assumption about
processes.

() In the meanwhile

\Q)/Somewhat
(c) Engagingly
(d) In other words
17. Many, hesitate to publicly
broach such question for fear of
num‘ni.n‘g diScrimination. -
2y understandably
~¥) despite ,
(c) until 4

(d) of course

18. —— , one notes that in the
nineteenth Century an " ithportant
develf)pment “of reflecion and
questioning ‘gained riomentum,

a) _Pam'cularly speaking
(b) Generally spcﬁng
() Otherwise,

(d) Of course

19. , the situation has
completely transformed over the past
few years.

(a) Somewhat
(b) Believably

1(c)~Thus
(d) Predominantly

GET IT ON
Google Play

20. , the committee is of the
opinion that all academic matters will
be discussed in the Executive Body
Meeting.

(a) Hence
(b) But
(c) Later

a_4d Although

Directions : Given below are words, followed by their appropriate meaning. Identify the
correct meaning and mark your answer accordingly in the Answer Sheet.

21. Cynosure :

(a) Person or thing that causes a
change

(b) Person or thing that attracts a lot
of attention

erson or thing regarded as exact
; copy o
(d) Person or animal that lives in a
particular place

22. Coeval :
_Aa) Person of roughly the same age

(b) Person .or organisation that
cooperates with others

(&) Person employed to drive a private
A car

(d) Person employed in taking census

"23) Retrogression :

_£a) Sudden sharp drop in price

(b) Reverse pressure
(c) Return to earlier state

\ T Sudden occurrence of a past event

24. Imprest :
(2) Surprise attack by people

() Money used to manage small
expenses

(¢) Sudden occurrence qf laughter

(d) Sudden increase in activity
25. Turgid :

(a) Determined or loyal

(b) Dirty or untidy

(c) Swollen or distended

(d) Excited or upset

B - AEBC-A-GAT
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Directions : In the following items a sente
underlined, followed by four options. Select
meaning to the underlined word and mark your response on th¢

26. The Constitution of India ensures
proportionate representation from all
regions.
balanced
partial

(c) unlikely
suffragette

27. There is a feeling of disenchantment
among the members of the group.
(a) delight .

() disappointment
© idealism
) unrelenting

28. She believed that it was imminent that
he would be chosen as the leader of
the group.” ~ °
() timely

accordingly on the answer sheet.

31. S1: Although all sources of energy
ultimately come from natural
processes, non-renewable resources
cannot be replaced naturally at the
rate they are being used.

S6: The sustaingble use of natural
resources in a manner that provides
the” maximum benefit of these
resources to humans over a period
of time can be termed as con-
servation.

P : This will increase the time and
cost of mining and once these
resources are used up they cannot
be replaced.

AEBC-A-GAT - B

nce or a phrase i§ gi
the most appropriate

ven with a word that is
option that is nearest in
the Answer Sheet accordingly.

(®) distant
©) unlikely

\Q)/ inevitable

29. The brave soldiers left an indelible
impression on the people of the land.
(a) permanent
(b) fleeting
(¢) hilarious
\}d) eradicable

30. The

manager always  provides

instantaneous replies to all queries.

(b) delayed

Lra) immediate

(c) deliberate

‘\(cl)/ﬁnwanted

Directions : In this section each item consists of six sentences that comprise a passage.
The first and sixth sentences are given in the beginning as S1 and S6. The sequence of
the x?ﬁddle four sentences has been jumbled up and labelled as P, Q, R and S. You are
required to find the proper sequence of the four sentences and mark your response

Q : Hence, we must remember that

ﬂ]9ugh our country is rich in
mineral deposits these resources
are short-lived.

R : Extraction of these ores through the
process of mining will soon
becomg difficult and very
;xpenswe because these minerals

ave to be mined t
depths over time, PR

S : Mlpcral Tesources can be said to be
Inite and non-renewable™

® QPRS ~———

() SPQR

(c) SQRP

(d sqQrr

32. S1: India, at present, has one of the

33.

S6:

@
®)
©
@

S1:

S6:

largest road networks in the world.

It passes through Howrah, Delhi
and Amritsar and terminates in
Kabul (Afghanistan).

: The importance of roads has been

recognised in India since the
ancient times.

: The Grand Trunk Road was built

by Sher Shah Suri across the Indo-
Gangetic plain, from Chittagong
(Bangladesh) to Peshawar (Pakistan).

: Kings such as Ashoka and

Chandragupta built roads for easy
transportation of goods and people.

: Construction of roads continued as

an important activity in the late
medieval period.

QPRS
SPQR
PQRS
PRSQ

National highways connect one
state with another and are of
national importance.

These road systems are also known
as primary road systems and are
laid and operated under the
supervision of the National
Highway Authority of India.

: They are important because

whereas they constitute merely two
per cent of the total road networks,
they nevertheless carry 40 per cent
of the total road traffic.

: The road infrastructure of the

country is therefore crucial, and
their construction and maintenance
is of critical importance,

()

(©)
(d)

Si:

S6:

o)

(a)

©
@
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: They bear the load of traffic

because these roads connect long
distances and pass through major
cities and towns.

: Since they cover the length and

breadth of the nation and connect
cities and towns, these highways
are the primary facilitators of trade
and connectivity.

PRSQ

SPQR

PRQS

SQRP

The South African Constitution
was inaugurated in December
1996.

A special constitutional court
enforces the rights enshrined in the
Constitution.

: Its creation and promulgation took

place at a time when South Africa
still faced the threat of a civil
war after the dissolution of the
Apartheid Government.

: The South African Constitution

says that its “Bill of Rights is a
cormerstone of democracy in South
Afnca”

: Apropos, it forbids discrimination

on the grounds of “race, gender,
pregnancy, marital status, ethnic
or social origin, colour, age,
disability, religion, conscience,
belief, culture, language and birth™.

: The Bill of Rights grants perhaps

the most extensive range of rights
to the citizens.

QSRP
SPQR
PQRS
PQSR

B - AEBC-A-GAT
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35. S1: Our Constitution reminds us of
the necessity of representation in
a large democracy.

S6: Elections have today become the
most visible symbol of the

democratic process.

P : This is why elections become
important.

Q : Therefore representatives are
elected by the people.

¢ we think of India as a

: Ve . ]

e Z\g:::mcy, our mind invariably
turns to our successful elections.

S : All citizens canflc_:t participate in
taking every decision.

(@) QSRP

() SPQR

(©) PQSR

(d SQPR

Directions : The following items have a sentence in direct or indifect speech with _f°“f
options. One of the options converts the direct or indirect speech into indirect or direct
correctly. Select the correct option and mark your response on the Answer Sheet.

36. Convert from direct speech to indirect

speech :

Charu said to her friend, “I want you to

be here at 6.00 p.m. tomorrow for the

meeting.”

(a) Charu told her friend that she
wanted her to be there at 6.00 p.m.
the next day for the meeting

(b) Charu told her friend that she
wanted her to be there at 6.00 p.m.
tomorrow for the meeting

(c) Charu requested her friend that
she wanted her to be there at 6.00
p-m. tomorrow for the meeting

(d) Charu told her friend that she will
want her to be here at 6.00 p.m.
the next day for the meeting

37. Convert from direct speech to indirect
speech :
Nitin said to his brother, “What a
beautiful painting it is ?”
(a) Nitin wondered to his brother that
what a beautiful painting it was

AEBC-A-GAT - B

38.

() Nitin wondered before his brother
that it was a beautiful painting

(c) Nitin exclaimed that it is a
beautiful painting

(d) Nitin asked his brother whether
it was beautiful painting

Convert from indirect speech to direct

speech : . 2

The teacher asked her students why

they had been quiet in the previous

class.

(@) The teacher asked her students,
“Why were they keeping quiet in
the previous class 7

(b) "I'he teacher said to her students,
‘Why were you quiet in the
previous class ?”

(c) z'he teacher said to her students,
Why had you been quiet in the
previous class 7”

(d) The teacher said to
“Why were
class 7

her students,
You quiet in previous

GET IT ON
Google Play

Directions : Following items have four sentences, one of which is correct. Find the
correct option and mark your response in the Answer Sheet.

39. Which one of the following sentences
is correct ?

(a) He is congidered as the brightest
illt_illef_tual in the country

(b) He is considered as onec among
thiﬂg_h@_ingcllecml in the
country ~~

(¢) He is considered as one among

the brighter intellectual in the
country

He is considered as onec of the
intellectual in the country

40. Which one of the following sentences
is correct 7

(a)~No other mountain is taller than ‘
the Himalayas T

®) Nooﬂmmoxmtzin@tillt‘hﬁnthe
Hi o

(c) No other mountains taller than the
Himalayas ~

\J_,(d) No other mountain is _ta_ll_gr_ then
/ the ‘Himalayas ~ =

Directions : In the following items, a pair of words is provided. You are required to select
the option that most appropriately describes the meaning of both the words and mark your

response on the Answer Sheet accordingly.

41. Confident and Confidant

(a) Confident means ce_nnixi ~and
cot}ﬁdgu}t means close fniend

(b) Confidant means certain and
confident means close friend

(c) Confident means belief and
confidant means an emissary

Confident means assurance and
confidant means intimate person

42. Broke and brook

(a) Broke means abundance and
brook means a flowing water
body

(b) Broke means bankrupt and brook
means a steam

(c) Broke means fractured and brook
means nonsense

(d) Broke means negotiate and brook
means a stream
43. Accept and Except

(a) Accept means apart from and
except means_recognise

(b) Accept means recognise and
except means include

‘}g Accept means consent and except
means apart from
" —

Ad)—Axcept means gllude and except
means apart from

B - AEBC-A-GAT
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44. Accord and Accrued

(@) Accord means collected and
accrued means agreement

(b) Accord means agreement and
accrued means arrived

(c) Accord means accepted and
accrued means received

&Accord means agreement and
accrued means accumulated

45. Guarantee and Warranty

\};»Y Guarantee is an agreement and
warranty is 8 service contract

() Guarantee is a business agreement
and warranty is a service contract

(c) Guarantee is 2 promise and
warranty is a service contract

(d) Guarantee is acceptance and
warranty is a service contract

Directions : Read the following passage carefully and answer the questions that follow
by selecting the correct option from the given options, based solely on the passage. Mark
your answer on the Answer Sheet accordingly.

An attempt to determine the number of languages in the world is affected by other factors.

A few new languages do contifiue to be discovered, ever thicse days, as_unexplored

r'egi_bnS of the world begin to_be opened up. The discovery dges not usually take place
stril;ght away. Often there are similarities with an already known la{g'gggwhi'zh make

the. inyesg:igatc)_rs assume that what they have found is just a dialect of
after a considerable period of contact does it ¢ that
it has to be considered a different language. It
facts, and there are’still many. countries where such surveys are incomplete or have not

ge. Only
t the speech is so different that

es a imrguggcg;gygup_eétaﬁsh,tpc

even begun. Jhe people may be known, but the identity of their language may not be.

Because manysuch peoples are bilingual or multilin

1, and converse with outsiders in

lingua franca, it may take a while before liﬂguis_gs__cggxqtq realize that there js an ethnic

language there at all. .

46. Which one of the following is NOT the
reason for the difficulty in estimating
the number of languages of the world ?

(a) New languages continue to be
discovered

.

AEBC-A-GAT - B
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\/.(h)/'lhere are still unexplored regions
W/I\Tew languages are considered a
dialect of a known language

() People who speal
peak the lan
do not claim their languageguagc

47. Which one of the following is a way
to establish the discovery of a new
language ? " - i

(a) By establishing contact over a
period of time with the speakers of
the language g

\_{b) By finding the similarities of the
lariguage with other languages

(©) Bz comparing with_ !hg _lingua
franca of the region

(d) By gor_xd_ucting a survey of all
languages of the region

48. Which one of the following statements
is correct ?

(a) Language surveys have been
conducted by all nations <

.

(b) There is hardly any language to be
discovered in the world L

(c)_All the languages are either
complete languages or, dialects of
other major languages

(d) No new language needs to be
discovered since all languages are
known to the world

11

GET IT ON
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49. ‘The people may be known, but the
identity of their language may not be,’
means -

(a) People are recognised as d differsnl
ethnic groups but nof necessarily

their language

ﬂlc are recognised as different
ethnic groups and their language is
rec’og‘u's'id o -

(c) People are not recognised . as
o<  different ethnic’groups, and so are
their languages ~ -

(d) Because the people are not from
—“different ethnic” groups and their
language 1s recognised

50. Which one of the following words
from passage means ‘come to be
known’ ? 3

\_(3) Fanspire
Y Dues e
(c) straight

(d) vanant

B - AEBC-A-GAT
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W -B
S g W e gl ¥ agde @ T
VIR o & A e # 2 o
(a) T, I W H geer § AS (c) @
ot (@ w-shard
w1 T, A R g § i
(b)ﬁﬁiaﬁm: b 54, freffae & @ s-a feme afi
(dimensionless quantity) 27
(©) e sk T a1 QF W A
“@ﬁh'@a%- (a)‘ﬂﬁﬁm
@ e @ i T e € g ®) fagfa
e wed sy g ¢ © T
@ =

52. 5= fomelt B e = siifir ww & @ of
& ¥ Rt we o (fluid) F g
ST ], A R G 39 fie R IR H
fam 3% = = R | w@ == @ wiem

1. 38 5% & somm & s gar &

2. 39 Tz grr faeafia oca word &
R F R BT &

IEgE F ¥ FA-w/ AR W
1 74 i

(a) ¥ 1
() el 2
(© 13k 23mt
@ Ad 1,982

53, 7fE & qia & AR & Far A agr @
WY, |1 gadt wfadusar feadt et 2
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55. 38 o (system)’q'ﬁ I H-TE% % il
I -9 F RIV T AT ST H
ffra it 2
(@) %@ fiFma (Adiabatic system)

() F@s ™ (Non-adiabatic

system)
() T=EEn FEE (Bquilibrium
system) :
@) swmEen fram (Non-equili-
brium system)
56. A% T TrEEeTs ik fafa T W
W T (speed) sFY: XdRyg @
\/({) X<y T
®) X>y @
) X=vy
@ x=y

51. What happens when the sunlight
travels through the Earth’s “atmos-
phere ?

\/@ The blue colour is scattered more
compared to the red colour

(b) The red colour is scattered more
compared to the blue colour

(c) Both the blue and the red colours
are scattered equally

(d) The blue colour is not scattered

but the red colour is scattered the
most

52. When a solid body is partially or
completely immersed in a fluid, the
fluid exerts an upward force on the
body. The magnitude of the force is
equal to
_L. the mass of the body

2. the weight of the displaced fluid
~ by the body

Which of the above is/are correct ?
(a) 1 only

() 2 only

€) Both 1 and 2

(d) Neither 1 nor 2

53. If the length of a copper wire is
increased by twice, then its resistivity
will be

R |

=

GET IT ON
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PART - B

(a) Doubled
) Halved

(c) Same

4] One-fourth

54. Which one of the following is dimen-
sionless quantity ?

(a) Stress
.l ~
.__{b)” Strain’
- b2l
(c) Pressure __— 77("5

@ Force

55. A system that does NOT allow
exchange of heat with its surrounding
is called

\/@{ Adiabatic system
(b) Non-adiabatic system
(¢) Equilibrium system
(d) Non-equilibnium system
56. If the speed of light in carbon disulfide

and vacuum is X and ¥ respectively,
then

@ X<
® X>Y
) X=Y

@ X=Y

B — AEBC-A-GAT
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57. Tt Aftst i wme & wem @
¥ ot Ran # warfe o @ 1 ot
R ¥ 3 w e A R g
R 6T &% N Ry = onft ?

(@ TR ¥ weaq @ A RomEd
(Clockwise)

(b) R F eaq o« F TEE (Anti-
clockwise)

(©) TR & TR o F ghromad
(Clockwise)

(d) TR F THHIR o F IS (Anti-
clockwise)

58. frafafe # ¥ S=-w1 7w, 5T 9w
R T w=@ v @ w2

(@) IF
() &t
(c) HTadroE
@ =
59. v« yewry i foRor ang & o H, waw ¥
Y™ FIT R FRA @ o
(2) sfirea & foan # 7 ot
() sifiia & g 75
(c) Hret Tar & d=ia g
(d) fauda foan At ik waffa e
60. fft fiz (object) H 7fa F w3,
frafafea # & F-ar 7fF #1 whao

(equations of motion) & wE T ?
(vt & 39 am 94 €)

(@) s=ut+%al

(b) u=v-at

AEBC-A-GAT - B
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(C) u2_v2-203

G)] ni’(ﬁ%a‘wmﬁﬂg@‘:

u+Ja@2n-1)
61, P # & A T T

22
ada St 3 AT foraT ST R

(b) Az W & g A @
ofog § v vk § wfa
oo wmaT ®

() dreiex & I== Wiy o @ 3k
Whex & v =7 Bar ©

(@) A 7 wRRE w7 B § 3
Yohex # wou R B R
62 e % @ da, It @
IRYRe AT § ?
(@) Wgiferaw
() wiFfie A
(c) wg =it
(d) wrFar
63. 3f i Wi, Rt ¥ W% 1 Ohm

F R, T TR A I % w2
At wfomdt wRedy g

(a) 1 Ohm
1
(b) 3 Ohm

"(© 3 Ohm
(d) 9 Ohm

P\e
. g
4

\

-

, Aty
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‘)Jr;f_( ‘?j__.
R o

57. A current through a horizontal power

line flows in east to west direction.

What will be the direction of magnetic

field at a point directly below if when

viewed from end

(a) Clockwise in a plane perpen-
dicular to the wire

) Anti-clockwise in a plane perpen-
dicular to the wire

\ylockWisc in a plane of parallel
to the wire :

(d) Anti-clockwise in a plane of
parallel to the wire

Which one among the following
elements is known to be discovered
the earliest ?

W Copper
() Gold -

(c) Oxygen-
—{d) Uranium -
-

- en a light ray passes through from
air to water with a gon-zero angle)the
ray willbe
(a) bending towards the normal

,,.u*\ (b) bending away from the normal
.\ {9 Propagating in straight line
\9 reflected towards the opposite
direction

@ Which one of the following equations
related to the motion of an object is
NOT correct? (Symbols carry their
usual meanings)
(@) s=ut+ yad

®) u= v-at

(c) uw?—+v*=2as

‘}r Distance travelled during
h

n™ second = u + —;a(Zn -1)

61. Which one of the following statements
is NOT correct ?

_(a) An ammeter is always connected
in series in the circui( to measure
the current -

) A Voltmeter is always connected
to paralle! in a circuit to measure
the voltage

(b
—

(c) A voltmeter has a high resistance
" and an ammeter has a low resist-
ance - - ) .
y A voltmeter has a low resistance
ﬂd an ammeter has a high resist-

ancg

62. Which one of the following is a
non-conventional source of epergy ?
(a) Peu'oleuxlx

(b) Natural Gas )

(c) Tidal energy
A Toal

63. If three resistors of 1 Ohm each

connect in parallel to each other the
resultant resistance is

(@) 1 Obm Lala)
1 e Sl
o3 & =Q
\y{:‘ Ohm K
(d) 9 Ohm
15 B — AEBC-A-GAT
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68 @ﬁwﬁﬂﬁmmmm

64. form = @ o wlvaft R 3 :
(@ s i ™ t = ammﬁaﬁ@qﬂwﬁ @Wehcarang_hodueto ‘wo conducting wires of the same
. (Eefiacron) IR IRELEILS ¥ 9Ra: (across) et (a) Refraction of sound waves < :meml and of equal lengihs and ¢ -q;;all
() = T W wEd (Reflection) mﬁ‘ﬁ“ # o R Aofisrm & i o R:: R arx;m;t::l :;nﬁ:t ;o:n:::::_i x:: r:;z ‘:e
(c) =y 7@t = fadw (Diffraction) fgr @ R g s Aol == omc TR same potential difference. The ratio of
@ =B o v v : % g IO H T (c) Diffraction of sound waves heat pmduced in parallel and series
AR LRI combmatxons is
(Resonance) T ? ‘/(d) Resonance due to sound waves ert
.. . @ 2:1 (@ 2:1 'i**g, 22
5. THEHH S (uniform speed) W TR ®) 4:1 65. At uniform speed the acceleration is (b) 4:1 2
o R © 1:2 e ¥ "y T Vm/l-z P @ 'Q'
(a) frem @ 1:4 (a) Maximum . 2 1%
®) . (b) Minimum d 1:4
AR 6. frtt W Wit fgm  awETE
© @ : qfeRrE (solenoid) ¥ MR Forehid A" Zeto 69. 'ST:: ghn;xaylxetxcdﬁeld @ a long
(d) %t a‘ﬂ \-fjj)—-Coﬂsmt 1 solenol -Cmg currcm
- @ e \_/(‘l/ls oy
66. TF aeg 3d IR el oo odw & ¢ (®) M- RA e d An object is placed between mﬁmty (®) decmscsaswemovewwardsijs
(B) % v i e & | s oy T, e ¢ * R e = o
? () RN wr s R A R & g (c) increases as we move .tuwards its
(@ & (P) IR WrFw (F) & v, o G €, o & wed ) bemgmmTle (P) and the focus -d — -
L @ et 3 Wi T R | . s it ismidhe e solomuid
' . (b) between the ft d infini - .
®) ﬁwﬁé () R 3 e, o & 7o.q¢as;rﬂmﬁman 12ms & kR bchi:;“m:n{.’;f;‘f’“ Wiy 9. A car has an initial velocity of 12 m/s
%5 m N g R Frmraear # ww@r s I :r:i ;s bn;%o‘u o 1ot qer 3 distance
© & @) IR s ¥ &, v F |TAEE lfscs : BTl acesmaticns Al e S
A < ' \’g),)m m/s? U \g ud)Lmlxw, in_front of the mirror (a) +1-6 m/s*
+3-2 m/ ' t the fi > /2
@) wEE (F) W, 340 F ©. 18 $/: }L )C ’C ,/ # 7t the focus (F), behind the mirror V«sﬂ;.- m)s:

67.2 FAW (C) IR A g A & (d) —0-8 m/s? \& The work done in moving a charge of () -16 m/s* ‘
o i o et fgBw - : 2 coulomb (C) from point A to point B @ 08 m/s* AV F B
% A e 241%1AKB w1 wEbw faas is 24 1 What is the polemlal difference ¢ 9 - 2-

forvrarr faran & 7 (Universal Constam) G : . between Aand B? ~ 71. The umquonmmdg‘ vitation G
(a) 48V R ? ‘- @) 48V 29 has the unit 7
®) 6V @ N P vt e @ N
© 12V (b) m/s J ®) 6V A ®) m’'s
(C) % (Joule) /J\ %T’ /
d) 008 V () 12V ¢
“ (d) N-m%/kg? p . [ (©) Jouli
AEBC-A-GAT - B 16 @ '0_8 ¥ W \M“-/kg:
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72. FEEH T 9 o S | @ TR 76. T TR, A€ TR, T WK A R, 72. Two bodies of unequal masses are @Gaja Dwar, Ashwa Dwar, Garuda

¥ fircran wmer @ | finedt o Ry 3§, ot

T QT oo | s
7q AR GEad] snadee &1 S w0
13

ar@zﬂaﬁ‘é“mmm“m
A fRat?

R gl w Ry wew ‘g’
wRA fFr € 7
(2) T w=rerg

dropped from a tower. At any instant,
they have equal : -

increased four times to its previous
value while the mass is doubled. What
is the ratio of the mew and previous
time period of the pendulum 7 -

Dwar, Makar Dwar, Shardula Dwar
and Hamsa Dwar arg located in _a

“Dhara”, a special initiative dedicated
to Indian Knowledge System (IKS) ?

(a) The Ministry of Education

(@ 3:1 X @ 3:1 3 ) Ministry of Home Affairs
g a) 8 N _—

(b) 2:5 ®) T& ’ . (T = LN _ (¢) The Ministry of Information &

© 2:1 (©) I Td WERW AT ®) 2:5 ' q,f;(\ . < Broadcasting

@ 3:2 (d) "l T (c) 2:1 ‘(L “« b 79/’ ) (¢) The Ministry of Culture
7s.ﬁxaf2=rf%qraﬁ: FH-|1, 3T AN & 79. 991G (PRASHAD) drwr (fefamm @ 3:2 (. 7 3\1" ‘ 79. The scheme PRASHAD (Pilgrimage

T AL ? TN dR e e wadT » . .1 . Rejuvenation & Spiritual Heritage

. . 75. Which one of the following is NOT a ; v ovi :
(a) a1 A0 TR S g M) & st frad fru weman basic property of electric charge ? ‘:n‘::g?g:mmn e o
(b) maw w1faa WET #Y W ? b )

() fa fiz (body) | s weg
faht g @ fad viea %
AT & QUTTE A0S BT §

(2) %415 (e-Visa) gl
(b) T e ERITEH (Infoline)
© T R W T A A whew

(a) Charges can be added
(b) Charge is conserved—"

(c) Charge on a body is always an
"~ integral multiple of an electron or

(a) e;Yi“. Facility
(®) Multlingual Tourist Infoline

(¢) The development of tourism
infrastructures in States & Union

@) fer fags @@ (isolated FTEATA  (tourism  infrastruc- a proton charge Territories
st pe A~
system) ¥ a4 F I9A A 7R ture) &7 fagmg @) Charges can be created and (d) Promoting Dekho Apna Desh
fera w1 waT (d) %@ s B Ao =y - ; ‘\ destroyed in an isolated system scheme

AEBC-A-GAT - B
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ven W @I D

?;mé::m)mg @ & feeht st o), ¥, fy, Mo

() =@ ®) R (b){ Acceleration "\ v (a) New Deflhx

(o) T&fes st © RIRUIC L (c) Potential energy : (b) Varanasi ‘

(@) e st (d) TR (@) Kinctic encrgy V:; :::::f:::d |
73. it s o & sy (), oo 7w & B g & W e P #is Ssquoniyr i) wansionglhs () and 77. Which dance form of India has been

(A) 3 F (v) ¥ e dw R (UNESCO) 3 HaaT et 3 Hiegiers 2;“‘* (v) of a sqund wave are related inseribed mto UNESCO’s. Represen- 1

@) f=vi R & wfeffr gt F wfm femr tative List of Intangible Cultural \

®) i=vf & LT = Heritage of Huganity ?

© f P (a) FUwel ) A=vf, ) Kathakali

c =— :

” (b) T o - () Garba

@ v=4f © i . () Bhangra
74. TF W Siow & war 96 ghadt @ afeh @ v=2f Y,w Odissi

WA ¥ SR Y agr & R, wats 78, fa ST X WA T YOI (IKS) ' 74. The length of a simple pendulum is 78. Which Ministry has initiated the
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80.v@ ¥ T fage gha =
feftm =@ ¥ fg ‘o
(ASHVINI)' & &k 399 ¥ ®H
wafm € ?

(2) T (NPCIL) 3R
TR (NTPC)

©) AT (TMC) ik Frie
(VECC)

(c) Tl (HWB) ik sfroamedt
(BARC) -

(d) ITEATENR (IGACR) 3K
TR (NTPC) \

81. {9 (REJUPAVE) ¥ =R #
feffe st ¥ 3 S-ar et 2 2
(@ T s F @ wgan | F fg

T & F W5 (FAO) 3K SRa
TWER & HeA 6geh 999 &

®) T H9EE  (DRDO) T
foefim wifte == frced
(afdem) s am &

(c) ¥t when @ ww fowm WA,
AR TEFR F &3 WAING 7@
(i) wrfEs 2

d) 98 @it &' ¥ fasfm 6 €
safts a1 (high altitude) W
a5 oo 6t 9adis ©

82. ‘d1-a7E (C-Bot)’ & IR ¥ Frafofys #
¥ I-T1 /AR TG w6 /7
1. 7% vara fafadi (coral reefs) =

Aiftex #7 & forg wrt & A s
areT ared

2.3 WEATEAR  (CSIR) 3K
TAETER (N10) TRt fafir fomn
TR

AEBC-A-GAT - B
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w-dm AR # smefeR
AT | AT AT L ?
@ M P
(b) T
() =
(@ 0

84. 47w T b & Frafafea
upafEl /ewwetal # ¥
gy dent @ wifoqel wwEE
@I, A AR AT aRERE @
I WM, @ar afiE sk arnfe
foram =t wgrEar 3 F fie Awa Wy
e & Al foran a7
(a) forft wx
() T Foew
(c) = 3N
(d) 3= TR

gs.frafafe # & @t R
WYTES. Rl R ¥
forg sfies smrame g’ w R s
R ?
(a) WS (RBI)
() ey NITI) 37ERT
(c) T s ¥

@ ®fé G s Y SRy

80. The Joint Venture named ‘ASHVINI’
to develop nuclear power facility in
India is between

(a) NPCIL and NTPC
(b) TMC and VECC
(c) HWB and BARC
d) ISACR and NTPC

81. Which one of the following statements
about ‘REJUPAVE’ is correct ?
—

(a) It’s a joint venture between Food
and Agriculture Organisation
(FAO) and Government of India to
promote organic farming

(b) It’s the name given to the lightest
surveillance aircraft developed by
DRDO

(c) It’s a centrally sponsored flagship
Programme of the Ministry of
Women and Child Development,
Government of India

M’s an indigenously developed

road construction technology
high altitudes -

(822 Which of the following statements
about ‘C-Bot’ is/are correct ?

_k It’s an underwater vehicle to
monitor coral reefs

2. It has been developed by CSIR
and NIO

21

GET IT ON
Google Play

Select the answer using the code given
below :
(a) 1 only
(b) 2 only
«fey Both 1 and 2
(d) Neither 1 nor 2

83. India’s Gas Turbine Research Estab-
lishment (GTRE), part of the Dgfence
Research and Development Organisa-
tion (DRDO) has developed an aero-
engine which will potentially make
India self-reliance in aero-engine
technology. What is the name of the
engme? )

anga.
(b) Yamuna-
(c) Krishna
(d) Kaven -

84. Who among the following Presidents/
Vice Presidents of the United States of
America was awarded Nobel Peace
Prize for work to find peaceful
solutions to international conflicts, to
advance democracy and human nights,
and to promote economic and social
deveiopment ?

(a) Jummy Carter
(b) Woodrow Wilson
(c) Barack Obama
(d) Al Gore

85. Which among the following agencies
releases report on ‘S AFE. Accom-
modation : Worker Housing for Manu-
facturing Growth’ ?

(a) RBI

V(.b) NITI Aayog
(c) National Housing Bank
(d) Housing and Urban Development

Corporation

B — AEBC-A-GAT
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BT E
86. TR @MW F N WAl N 90. & | (DNA) 31 : ,:Tm 86. "l‘he lactic acid that gets accumulated 90. Which is the correct base pairing found b
vt & s B T AT wE R’ g HA-HT R in the muscle cells during rigorous in a normal DNA molecule ? I
v \ afes exercise causing muscle cramps is ]
:1“;; m“'ﬂa;sﬂﬁ imﬁ? (Cm;:)%a: (a) Qgi i, 'IISRI'I * o 33[ @m % produced from (3) Adenine pairs with Thymine -
» 98 SqH Y £ d
(a) Tt (ATP) ® wF, i gl 7"»' a (b) Adenine pairs with Guanine )
) ITERe () b, TR & W g et (c) Adenine pairs with Cytosine i
(- enine pairs wi
\
© TS ? (c) Ethanol o ‘ i
@ 3 @ fir, P ¥ 9 =T o ? \Sg)/Glucose (d) Thymne pairs with Guanine ‘
87. Yt St & ’ﬁm' ot Yerge @it 91. Th I TFH T (clotting of blood) ’3!, 87. A chain of pepti('ie confaini.ng linear éD Clotting of blooq V‘mvolge‘s which‘ on'e,
¥ I efi snt R & SEaTg Brt frafifea & @ FH-A1 g oot ;:1;:3:::; n:;i :_:tmo ::gn t[ltr;ted by among the following clotting proteins ?
L R T PrefRm =t 2 2 AT WA T o @ 7 ek et @@ Pathogen
(@) mafr T : 4% £8) Eximery stinctas o
o) feftas @ @ ( ) (b) Secondary structure (b) Fibrinogen
(c) TEs dKAT () wrEfreT (c) Tertiary structure ey Macrophage
(d) =T &I (c) Teq werE (AHIT) (d) ‘Quatemnary structure ¥ Phagocytes
88. Sfemw foran Serew € 7 @ bkl ( ) 88. Cambium is an example of o o L
@ fa AR o . ¢ 92. Initial discovery of a_nubxonc penicillin
92. wfdifes (Wetarfes) Affafem Hi (a) Lateral meristem was done by
®) ¥frd Afceen wrf¥rw @i e ot ot ? Apical meristem 5=
() Ap
(c) saasht Afew ; e () Francis Crick
(2) wifew s (c) Intercalary meristem . '
(d) & Faw : (b) Maurice Wilkins
o) ¥t fafcsa (d) Permanent tissue
89. T BT § W @@ R A I @I (c) Charles Darwin
werdl @1 i T9 9% 4 3;: ST () - < 4 89. What happet;s o‘;vhen the al:'al and log
g containing fo materi: are le! (d) Alexander Fleming
7 s & . @ saTis wfie Kt outside for a long time ?
-(a) femm @@ 3k W@ 0 . B - i o
: | ats and oils in the food get The vector of malana parasites
st B o # 93, T el =7 An-arew ¢ ﬁ-. Ao Bhant = g 00 l is
e Wﬁﬁﬁlaﬁﬁ?;;g pio (@) W YT TR J ) (b) Fats and oils in the food get @ Mdc ke
(b) R FAFa A=) reduced ~ (® Male Culex mosquito
(c) 3o % R wn ok 3wk @ (©) Fats and oils in the food get
T3S B 9 £ (c) R YArdeior Fem B e oy Female Anopheles mosquito
(d) =% afuferan 7 e @ (d) W& TR TR

AEBC-A-GAT - B
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(d) No reaction takes place

23

(d) Female C_ulz'.t mosquito
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94. frafafen # ¥ F-w1/a-¥ W

@ gaf /8 2
Lwafa  : AwRERaw
2. & (TB) : wmifya=w

IR R e« W wsw g
(@) ¥ 1

®) 3= 2

© 13K 23+t

d IXLAV2

9s. fazrfim B1 = fomr wm @ st st st
22
(2) TEERIfA
(b) FEEE
() e
d) B
96. frafafega IR (Longitude) 3R
FAW  (Latitude) W@ W fER
Hiferg -
1. Y@ IARR (Prime Meridian)
2. %% @ (Tropic of Cancer)
3. fagaa 39 (Equator)
IgE # & P @ /e g/
39 (Great Circle) 8 /% ?
@ 1,23K3
®) = 13K 2
(c) %@ 13Kk 3
d ¥ 3

97, ¥ fer my @it @1 q-9dd #* I
fraamar & ded #, ¥E I wH
frAfafga AT R ?

AEBC-A-GAT - B 24

3. QUi
A% fog o g 9 AT W IR I :
@ 231

® 1,23

©) 2,1, 3

@ 1,32

9. 7ifrs smem  wiear  (Mechanical

weathering process) ¥ frpmfofa & &

- /34 ST 5 8/ ?
1. e e (Gravitational Force)
2. WeRw s« (Expansion Force)
3. e g & SRU & (Force due to

" water pressure)

+ fg T e W WA R IW IAT :

(a) ¥ 1 ‘

(b) ¥ 130R 2 .

(c) Fast 23K 3

@ 1,23KR3

99, frferfaa # & -4t st wEEERE
a1/ 4RIE /% ?
1. 3eITEeRl 8T (Alaska Current)
2. 900 Hewifed WA (North
Atlantic Drift)

3. ofeFft aT SwaE (West Wind
Drift)

9 g T e @ v R I g

() A 1

() 13K 2

(c) 23k 3

@ Faw 3

-

94. Which of the following pairs is/are
correctly matched ?

1. Malaria ~¥: Mycobacterium
2TB =>: Plasmodium

Sclect the answer using the code given
below :

(a) 1 only
(b) 2 only

v«)”BothlandZ

(d) Neither 1 nor 2

95. Vitamin Bl is also known as
(a) Riboflavin
(b) Thiamin
Vﬁ Retinol
(d) Tocopherol
96. Consider the following lines of Longi-
tude and Latitude :
1. Prime Meridian

2. Tropic of Cancer
—~

- Bt -
Which of the above lines is/are a Great
Circle ? -3
@ 1,2and3 [/,
(b) 1 and 2 only “
(¢) 1 and 3 only fuf 4

4 \y/B only
S e AN

97. Which of the following is the correct
ascending order of the given minerals
in terms of their presence in the Earth’s
crust ?

GET IT ON
Google Play

1. Amphibolite
2. Mica
3. Pyroxene

Select the answer using the code given
below :

(@ 2,31
ri1.2.3
(© 2,13
@ 1,32

98. Which of the following is/are

the applied forces in mechanical
weathering process ?

1. Gravitational force
2. Expansion force
3. Force due to water pressure

Select the answer using the code given
below :

(@) 1 only
(®) 1 and 2 only
(€) 2 and 3 only
1, 2and 3
99. Which of the following is/are cold
ocean current/currents ?
~1. Alaska Current
~2"North Atlantic Drift "
3. West Wind Drift .

Select the answer using the code given
below :

(a) 1 only
By 1 and 2

\h
(¢) 2and 3
(d) 3 only

&9
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100. 5 MNemd F IW s (Summer
Solstice) ¥ @y frafofem ¥ ¥ f
I R [ N ot = Ror mew
' ?

(2) IHfes Iw
®) fagaq 3@
(©) w5
(d) W @

101. FIRSFE == (Coriolis force) F w3
# frafofem & ¥ aw-ar/aR-2
TR /€ ?

1. Rfifom =@ g9 wauwa 59 %
Seaq & wRar §

2. fagaq @ R, wifeifm o @
BT § 3R yaw wwe l@ni %
FeEq FEd @

e R ¢ g =1 @ W IR g
(@) ¥ 1

() ¥ 2

© 13R 23

@ AdrL,Td2

102, 8feq 9 (Sleet) & @t #, Frafufaa
# § B-a1 /3-8 w9 @ 2 /E 7
1w ofR ot A R E
IR frocht gf oF F ot i it
BRE
2.9 9@ Bt @ v R fig @
™ F aA et g B
9, i A Fag & fiee wE W
wa R firdt §

AEBC-A-GAT - B
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43 g o g AT R IR e
(@ ¥ 1
(b) ¥ 2
© 1 3k 22t
@ TAL,TAR2
103. a8 SRoEdE sy Feafafea
FafrmimAadi AR ?
(2) & gftr srshiet
() st &1 T 7€
(c) <fur sTaT
(@) o st

104. 7 wre & ga S i wEfli

e ddfmcaifRat ?
@ JwwRy '
() anfewm '
© ¥
(@) g :
105. ‘ST (Sholas)” % &9 3 el <feor s
F st o fafifea ¥ 3
Rt Ao g e
1. TS
2. Hrafifk
3. T (Palani) .
A RO 3 1 v o gf :
(a) ¥ 1
(b) ¥ 13k 2
(©) ¥ 23k 3
@ 1,23k 3

ich one of the following latitudes
will experience a minimum angle of
the Sun’s rays when it is Summer
Solstice in the Northern Hemisphere ?

P hectic Cinge, ¢
(b) Equator
(c) Tropic of Cancer
h_)g) Tropic of Capricon
101. Which of the following statements

with reference to Coriolis force is/are
correct ?

1. Coriolis force acts perpendicular
_to the pressure gradient force

2. At the equator, the Coriolis force
is zero and the wind blows
perpendicular to the isobars

Select the answer using the code given
below :

(a) 1 only

" (® 2only

&/Both land 2

(d) Neither 1 nor 2

102. Which of the following statements

with reference to Sleet is/are correct ?

1. Sleet is frozen raindrops and
refrozen melted snow-water

2. It occurs when a layer of air with
the temperature below freezing
point overlies a warm layer near
the ground surface

27

GET IT ON
Google Play

Select the answer using the code given
below :

(a) 1 only
() 2 only

S Both 1 and 2

(d) Neither 1 nor 2

103. Humid Subtropical Climate is NOT
experienced in which one among the
following regions ?

._(a) Coastal South Africa
(b) East coast gf _{\Ealia
“(©) South Japan
(d) South Argentina
104. Mahendragiri, the highest peak of the

Eastern Ghats, is located in which one
of the following states ?

\/(cr‘Andhumdﬁh
(b) Odisha
(c) Telangana <
(d) Tamil Nadu «
105. Temperate forests of South India,

~  known as “‘Sholas’ are found in which
e of the following hills ?

1. Anaimalai
2. Nilgiris
L e

Select the answer using the code given
below :

(@) 1 only
T and 2 only

(€) 2and 3 only

(@1, 2and 3
=
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106. WM WAWE, WRA WER H AiiS
Rii€ 202324 % sgEr, Preafofea &
¥ A 9 W R AR F W
IR ® ?
() oW IR RE
) ToEE IR 7= Wy
(c) FRGS 3R Torey™
(d) 9RGs R 757 wew

107. Frafofer & ¥ \-w, e Ra
T WS I A W R
(2) AWK (Ankaleshwar)
(b) FIEaT (Kosamba) "~
() TREWT (Mchsana)
(d) ¥ (Moran)

108. ST st % sgaR, fedt gy
F A =d-yft  (Culturable
Waste-Land) & &9 3 Frfiga fn smar
? ik = fom adf & sfts ¥ fog
o (FFe) T T 7
(a) 29 T
(b) 3ad¢
(©) 4=d
@ 5ad

109. frfafea & & R, Tfm @ wan

finm affSrs wear (NFSM-cC) #
e 7t R T £ 2

() =9H

() wTE

) I

(d) =T

AEBC-A-GAT - B
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111.

swwa ¥ fraffeq w@ et # A
¥ | ¥ oo =9 w9 & o Fifear
¥ w el (ATNR) R
st frrmr @ 2

(a) HieeT oA

b) ST ==

(c) T g

(@) TR T

112.

W = ffs R 2021 ¥ s,
Frafofe 3 ¥ R Rt wog &
6 MNF 3 o waifs whiva
@Y ?

(2) 3RV Wy

() feme W

(c) fufFam

(d) SWras

106. As per the Annual Report 2023-24 of
the Ministry of Mines, Government of
India, which of the following states are
the major producer of Copper in the
country ?

(a) Rajasthan and Gujarat

\/prﬂjmhmmdmmmn
Jharkhand and Rajasthan
khand and Madhya Pradesh

107. Which one among the following is
NOT a major oil field located in
~ Gujarat ?
(8- Ankaleshwar
(b) Kosamba
(c) Mehsana
(d) Moran
@)As per the Land Revenue Records,
any land is categorized as Culturable

Waste-Land if it is left fallow (unculti-
vated) for more than

(3 2 years

(b) 3 years

(d) S years

i ch one among the following is
] NOT included in the National Food

Security Mission Commercial Crops
(NFSM-CC) ?

(a) Cotton
(b) Coffee
(c) Jute

Jﬂugm cane

GET IT ON
Google Play

110. Consider the following statements with
regard to a steel plant :

L It was setup in 1964 with Russian
collaboration

Il It receives iron ore from the
Rourkela region

. Water and Hydel power s
supplied by the Damodar Valley

Corporation
Identify the Steel Plant on the basis of
the above facts :

(a) Bhilai Steel Plant
(b) Bokaro Steel Plant

47 Rouskela Steel Plant
(d) Durgapur Steel Plant

111. An offshore terminal at Vadinar has
been developed to reduce pressure
from which of the following major
ports in India ?
(a) Kandla Port
(b) Cochin Port
(¢) Mormmugao Port
(d) New Mangalore Port

112. As per the India State of Forest Report
2021, which one of the following
Himalayan states has the highest per-

centage of its geographical area under
forest ?

A4 Arunachal Pradesh
(b) Himachal Pradesh
f(c) Sikkim
(d) Uttarakhand

B — AEBC-A-GAT
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113. Rt s TR Seow o (L-Wave)
T T F wed ¥, PR ¥ @
HR-A/B-R T TR R/E 2

1. iga‘iﬁvﬁfém:ﬂavm(fouow)
= &

2.3 ¥w @ P (RR) w
T FRA

RARELE R TR e
@ ¥ 1
®) ¥ 2
© 13K 23
@ FAX1L,982
114. 519 STEEE 7@ Ted M GRT 989

TG R & w9 F P & ot 2,
@ faffm T d s g 2

(@ <\ .
() SEremE FEE ([fved)
(©) &

@ <%

115. 5T & 9o & ®1 ¥ g9

A fog g e o T R I
(a) ¥ 1

o) ¥ 13K 2

© ¥ 29K 3

@ 1,233

116, Frfefes & & A-w1 FF W@ W
R? 4

(a) EEA & A NG 9 99 T-

It & A a1 aeRem war §

®) e F Et W Sl

(ergrife) R SoREh

(erifieferr) Tt R € €
(c) R S F Wg f gew F
A (feesie) afte wwmasrt
2.
(@) FREH st @ smafe-Rr 3w
w0 R AR T R, afn qEar R
AR A AR B R

117, frfafea 3§ S-wm @ 2 2
(@) g T o 3R O e &

WA ¥ W | i 9

SR () B R '

(b) TF AT W GoHA, TF WA
% TEAT T 1/2000 1

@hich of the following statements

with reference to L-Wave or Long
Wave generated by an earthquake
is/are correct ? -

1. They follow the Earth’s circum-
ference ’

2,Theyuavelatmmequgsspta
constant rate

‘.= Select the answer using the code given
below :

(a) 1 only
. () 2only
« (©) Both1and2

\’@) Neither 1 nor 2

114. Which one of the following is formed
when volcanic ash is carried by
running water and is deposited as a
sedimentary layer ?

e
\_{&) Basalt
() Lapill
(c) Slate
(d) Tuff

GET IT ON
Google Play

Select the answer using the code given
below :

(@) 1 only
(b) 1 and 2 only

(¢) 2 and 3 only

\y} 1,2and 3

116. Which one of the following statements
is NOT correct ?

(a) The molecules of soap are sodium
or potassium salts of long chain
fatty acids

(b) The molecules of soap contain
both hydrophobic and hydrophilic
ends

(¢) Detergents are more effective than
soaps in hard water

@) In micelles the ionic-end of the
moflecules is_towards oil droplet
while the other end faces outside

@.\,\Vhich one of the following statements
is correct ?

(a) A neutron is formed by combi-
nation of an electron and a proton.

Therefore, it is neutral
s : :
Frafataa § ¥ forg ars/f FE 115. Condensation of water vapour into (b) The mass of an electron is about
sonfera grar & 2 / (¢) T & U et W SN water is influenced by which of the <~ 1/2000 times that of a proton
L ’ a7 (Goiter) % IToR ¥ fr following factor/factors ?
-An isotope of cobalt is used in the
1. 917 =1 A™AT ST & 1. Volume of air _ treatment of goiter
) A B B e - -
2. #rgar @ LA e A et feran t}* 2. Humidity w J.J. Thomson proposed that the
qTHT F it # Faw e e G) G ™) nucleus of an atom contains only
3. o # : 3, Temperature P~ neutrons
(AT 7
AEBC-A-GAT - B 30
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# W
8.3 Fhw ¥ wy ¥ wfw ¥, 122, P 3 3 B, B 9 i

Frafafm & ¥ o w00 & @ &

Wﬁ(“m)%misnm

o 2 & 2
@ v A (@) SiO;
®) Wew A A"Q' ©) CO;
() St e () CaO
WLk b @ M0
119. ¥ wficha e @ £
TR ﬁam:mﬁ;?ﬁ 123_§?ﬁmﬁaammmvé?€f

feaar 2

(@) v & ws SRR () I
Bt @ R i e €

() TEY W OETE WU g

(a) Pt foemm 3 Trgem ImEE &
HigaT A O I S @ pH
Tl T T R

i 3 R @ ®) &.éﬁmﬁm@mmﬁ
© R T F TR AR TR wigen et 9= Bell, SE pH
& RER € I R I B
(d) s & IR T F IR (c) & pH = wm=a: TRt pH @&
&t g § srafis S o € R 0¥ 14 T AT TR ©
120. 99 X TF FIRIEE T 8, P g (d) pH¥ ‘p* & 3@ W W ‘diéw

XCL ®, S 99 o1& a1 TE

(Potenz)’ ¥ &, fma ad ufs

2 | waifys dwEa: X aEd arol % (powen) &

jﬁ“:ﬂﬁ*@mﬁ‘“ﬁm?' PR R S——

a a

&) A3 ?7?

(©) Mg (a) STP R rsgoH A & smem O\

@ K (mole) T A 11-2 #ftex Brar &
121. freaffan simeredt & @ - o e LB, L

I (gze) wiaarss 2 7 102 3y By €

(@ CO (©) STPWR 22471 CO, % ¥ 443

(b) CO, ] B

(¢) Na,0 ) 47m 9 6002 x 103

@ Med mga;?m # 6022 x 10

AEBC-A-GAT - B
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118. Which one of the following particles in
the nucleus of an atom was discovered
by J. Chadwick ?

(a) Electron
(b) Proton
(c) Positron
(d) Neutron
119. Which one of the following findings is

NOT observed in Rutherford’s Nuclear
Model of Atom ?

There is a neutral centre in an
atom called nucleus

(b) Nearly all the mass of an atom
resides in the nucleus

(¢) The electrons revolve around the
nucleus in a circular path

(d) The size of a nucleus is very small
as compared to the size of atom

0. Blement X forms a chlonde with the
formuld XCL) which is a solid with
high meliing point. X would most
likely be in the same group of periodic
table as

@ Na
(b) Al.
(©) Mg:

) K7

m Which one of the following oxides is a
) neutral oxide ?

\/g—(‘ (0)
®) CO, .
bl
(c) NaZO

e 7

GET IT ON
Google Play

122. Which one of the following is also
known as Dry ice in its solid form ?

123. Which one of the following statements
is NOT correct ?

(a) A scale measuring hydrogen ion
concentration in a solution is .

called pH scale ' \@6’

(5)-The higher the hydrogen ion

concentration in a solution, higher

)c) Wg can measure PH generally
from 0to 14 on a pH scale

(&) The °p” in pH stands for ‘potenz’
— " in Gérman _meaning power
-—

124. Which one of the following statements

is NOT correct ? N, ;H )
(@}-Half mole ofm gas is
measured 2-2 litre at STP
=T o,

(b) 17 gram of ammonia gas contains
~ 6022 x 10® molecules at STP

(€) 224 liwe of CO, gas at STP
contains 44 gram of molecules
o

(d) 4 gram of hydrogen gas contains
—  6:022 x 10™ molecules

3 B — AEBC-A-GAT
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125. freft s & R ¥, frafofe § @

FI-|T F9T TR G ?

(a) 9w AT A X sfis o A
wH §, Wt ww it sgoe #
TETaftE €9 ¥ Tafia B §

) Fet A F o Sed wow Tl
AfmeE

(©) N TF Igg o R

@ fet dfs & weat 9t ¥

AT 8
126. T 1 9t gt 1 & g $ifg sk
TE & A9 Ry g W o w
Wiﬁq:
1 i I
(CGereca (Tarafis
) )

A TIRFT ERT 1. CaOCl,
B.3f&T @-T 2. NaHCO,
C. sIfS 98 3. Na,CO;10H,0

D. foram 4. CaSO,2H,0
& :
A B C D
@ 4 2 1 3
® 4 1 2 3
© 3 1 2 4
@ 3 2 1 4

127. Freafaf & & fem e sifaree
1 fgaaa (dimerize) €1 G&aT & ?

AEBC-A-GAT - B

(@ N0

(b) NO,

() N2O;

(d) N,Os

128, i ot swan siffearel &

oy & fraffea & ¥ FA-91 T

it ?

(a) uﬁﬁ@hmﬁaﬁﬁm%ﬁm
oo @ S §

() af Tt ward 3 sffsear &
st w1 P 2t ®, @
% AO=RE | T ®

© R il verd 3 sifiefsrar & S
T Wi A R, @ 9
F=Ra B ST

(@) 3R forelt ward & arffsr & $km
siaeE 6 Wi et €, @ 9%

SHiwerga B ST @

129, G I R g 11 @ gRfoe Aifim sk
T ¥ AR R g g W o =
Wﬁﬁq:

Tt I T I
(ifas (ST 7f¥e)
ar)
A9 1. ¥fem
B. R 2. fesemam
C.5=mm 3. TR
D.3= 4. 9
F<:
A B C b
@ 1 2 4 3
® 3 4 2
© 1 4 2 3
@ 3 2 4

=

125. Which one of the following statements
about a compound is NOT correct 7
(a) A compound is a substance com-
posed of two or more elements,
chemically combined in a fixed
proportion
\/(Ei Properties of a compound are
different from its constituent
elements  ~— ° 0~

(¢) A compound is an impure sub-
stance .
(d)” The constituents of a compound
W can be separated only by chemical
or electrochemical reactions

126. Match List I with List IT and select the
answer using the code given below the

Lists :
ListI List IT
(Chemical (Chemical
Name) Formula)
A. Washing soda_ 1. CaOCl,
B. Baking 2. NaHCO,
C. Bleaching . Na,CO5-10H,0
pde 4. CaS042H,0
D. Gypsum/
Code :
A B C D
@ 4 2 1 3
®) 4 1 2 3
© ® 1 2 4
e (D@ o

@Which one of the following nitrogen

oxides may dimerize ?
QRS -_——

s

GET IT ON
Google Play

S N0
() NO,
(c) N;O4
(d) N,O5

p -
@.Nﬂﬂch one of the following statements
regarding oxidation and reduction
reactions is NOT correct ?
(a) If a substance loses hydrogen
during reaction, it is reduced

W If a substance loses oxygen during
| reaction, it is reduced

(c) If a substance gains hydrogen
during reaction, it is reduced - .
(d) AT a substance gains oxygen during
Vrcac}ion. it is oxidized

—

129. Match List I with List II and select the
answer using the code given below the

Lists :
List I List I
(Physical (SI Unit)
Quanzity)

A. Temperature —— 1. Kelvin
B. Weight —~— 2. Kilogram

C. Mass ~ 3. Pascal
D. Pressure _— 4. Newton
Code :
A B C D

LA 1 2 BB

b 3 4 2

© 1 4 2 3

(d) 3 2 4 1

B — AEBC-A-GAT
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130. w-ast & g, @t 5@ w1 pH ferd
w1 g Wiy ?
@@ 70
®) 66
) 56
@ 80

1BLW NP wfy F, N wow
1850 % ¥ g &, froafofea ¥ R
-/ F-A @ s@ /A &
femwna?
(a) e 3k g

®) @ f wa sk g7 (Cotton
spinning and weaving)

() W 3R fagm
(@) Y9 ==

132. %9 FEd  (Seals) ¥ fmfwr 3,
frafefes 3 ¥ e vl = s
R mrar ?

() SgAT 9K (Sandstone)
(b) @TaE AT (Lapis lazuli)
(c) 3R (Jasper)

(d) ¥EE (Steatite)

133. W wRa #, Feafefeas & ¥ R
#ErA9e # WE-IEA  (Oligarchy)
a1 ?

(a) 3t
) ==
(c) MER
(@) @y

134,89 w9 A wd wE feafale
ffwensit (Sculptures) & & =-,
waga: g fedd @ e iy 2

AEBC-A-GAT - B 36

@ e fgra (Empty seat)
[OIRUSLIEE

(© I
@) W=

135. fiftwr wra %, Pt & & fe
v ¥ st femer & fom S o
& safty o freg Ta g 1 ?
() Wgufen @, 1773
(b) T T, 1919
© fem i, 1784
(d) TeTie At 3 wEe, 1935

136. 3gM erem & IR 7 frafafea § @
IWMFTERR? '
(a) WRa # F q iy = vSai WM
TF F T F WY FA T T 7
b)) ¥ T =R Foafufeaw &
e FgRifea fean A
(c) e ghfem frr mr @1 f5 <m
T ufr b R & gwet
I ? ‘

@ & = v T faer #
T ar

137, wfem (Rreaat avivem) st &
s fog S e @ 2
(a) TRUfH w@Ea-aes i

A ¥ g o Rega woreht
®) :T;;-:ﬂf;rﬂ ® = ¥ e F
i A &
bl fore o forg
() T R & fow smn
wféa =
(d) ARG TT & 57

@Fm‘ acid rain, the pH of rain water
should be less than

(@@ 70
(b) 66

g 56

4 ﬁ 8'0
131. Which of the following main industry/

industries was/were developed in the
second industrial revolution that took
place after about 1850 ?

(@) Coal and iron
\45) Cotton spinning and weaving
(¢) Chemical and electrical
(d) Steam engines
132. Which among the following materials

was used in making the Harappan
seals ?

(a) Sandstone
(b) Lapis lazuli
(c) Jasper
\(d)—Steatite’
133. Which one among the following

mahajanapadas in ancient India was
an oligarchy ?

@) Vaiii

(d) Magadha

134, Which one of the following sculptures
found at Sanchi Stupa is NOT directly
inspired by Buddhist ideas ?

37

GET IT ON
Google Play

(a) Empty seat
(b) Shalbhanjika

L&) Tree
(d) Wheel

135. In British India, which one among the
following Acts permitted _detention
without trial for up to two years ?

(a) \Regula.ting Act, 1773
y Rowlatt Act, 1919
(c) Piutt’s India Act, 1784
(d) Government of India Act, 1935

136. Which one of the following statements
about the Bhoodan Movement is
correct ?
The target was to get one-sixth
of cultivable land in India as
dornation

(b) It was approved through a Central
Government Act

(c) It was ensured that the donated
land was free from all litigation

(d) The first donation of land was in
Bihar
137. The Constitution (Seventy-third Amend-
ment) Act provides for
(a) an elaborate system of estab-
lishing municipal self-government
\_AV] an elaborate system of estab-
lishing panchayats as units of self-
gQvemment
(¢) establishing a Commission for
Linguistic Minonties

(d) the creation of the Jharkhand State

B — AEBC-A-GAT
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138. WRAW®  (BHARATPOL) W&t = ‘ Tt ¥, W 3 TR (Maize) 138, BHARATPOL portal has been devel-  141. Maize (makka) was introduced into
4 : ? oped b <y 3 i
Fom s R 2 / m/ﬁmm%@“- Y 1 India in the seventeenth century via
@) wra faf » SR (a) The Election Commission of India (a) Portugal
(b) The Central B f In i P
b) Fa IR =R ®) wfE IR B/ fom - ey i ot (b) Africa and Spain
(©) wadq fRure (© = s wferar ' ; (¢) The Enrorcement Directorate (c) China and Mongolia
@ i wfrgfr sik fafima @ T () ‘ i f-ackles . w0t Bcchangs @ Twkey
= oard of India -
139. 3RT R woR F R ¥ Pefifeg ¥ 142. TN IR g 0@ gafem fg stk & : : 142. Match List I with List IT and select the
i 139. Which one of the following statements ing the code given below the
abbabad i 3 whit ¥ AR R e ‘;Rh‘*T = i about the Parliament of India is ::gﬂ e Re et g
@ T W F e § g w i ooy List I List II
:ﬁfvr TR wfififre gy LSl - \s% ab“;:‘”;‘ey °1f ﬂt‘;“‘;‘“ of Rajya (Five Year Plan)  (Objective)
mehwwam (v (37¥9) clected Thy 18 iapsie e
) of ~ proportional representation A. Fifth Five 1. Towards
ot smmar @ : . : " by means” of single transferable Year Plan Faster and
® TR T T w3 et A it dadi 1. i ok st e _ Mg BncSusion
A AT wH v @ A T fema -(b)geDeg:htzChmxpcrsongt:c -i;"‘;:"‘ Growth
SR . jya a is nominated by B B
ra foan s & B. 91qdt Yaawia 2. we e o« the President from among. the : : g:;::)val of
o) aF QI mzmbers of the Rajya Sabha C. Ninth Five
© W'@fﬁ?‘fiﬁmﬁr{& Year Plan Poverty)
TH ¥ vea fem = fear W Tt (©) The Lok Sabha cannot be i
qHaT © C. 7 ‘ dissolved before the completion D. Eleventh Five > Fo:d‘ Work
arr - G, AR of its five year tem Year Plan :_ityhnduc-
@ W% T wew o T wn s A DT’-TR'G?ﬁX 3R I (d) “The members of Lok Sabha also ,
Tt % frafe # wagm a=a £ A Toadia W 4, ww . vote in the election of the 4. Growth with
: . g q{\ = memmbers of Rajya Sabha mﬁme
140. Freafirfem # ¥ S, dushe & g . v
fagidt % Wit wEf & 7 ﬁ(b %0 w 140. Which one among the following does Code :
: ; NOT figure among the Five Principles
(2) TH-gR Ft T59-87 sr@ear sk ‘\g? of Panchsheel ? A B C D
WHAT &l 9T&ER 9111 o A B C D (a) Mutual respect for each other’s @ 1 4 3
g 1 473 2 territorial integrity and sovereignty
(b) FAET R WER foa ¥rig et tual benefit Cor2 3 4 1
N O 0 ® (b) Equality and mutual bene
© b © 2 4 3 (c) Peaceful coexistence © 2 4 3 1
(d) 9T AHER @ 1 -3 4 9 _(d)ANuclear non-proliferation @ 1 3 4 2
AEBC-A-GAT - B 38 39 B - AEBC-A-GAT
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143, 0 YT ¥ waw ¥, PR §
R F-w1 /22 T WD /82

1. et v & s ¥ v
w1 anfewia swem ¥ Awmare ¥
3Bt Wad® (Proponent) ¥ ®9
S

2. 3 M7 Avrar F wes ¥

3. 7R e s o ¥ v R
W& §

4. TR w7 3R W W wie =)
I HieaTied far

F13 g g T v g -
(@ ¥a= 13k 2
®) ¥ 23k 3
(©) ¥ 1,33k 4
@ 1,2,33k4
144. Fifw f= R s ht ¥ PR

7 A owm woaf 1611 § s
HRET wifya fagr 91 7

(2y \gE

() wgfeaen .
() 5=

(d) FTETER

145. 9RdE AL  HiEgeE @  wafia
frafafaa woifas  wemst &

IRfyw § Y& WA T FAHATER
Zafera #ifog ;

AEBC-A-GAT - B

1. W T TS

2. wowers  afufola  (Fme
yarE) .

3, was wasa (d%e)

4, R v ew

A fog g e w1 A R I I ;
@ 3,1,2,4

®) 1,3,2 4

© 21,43

\}dfl,z,3,4

146. et &% ¥ frm arftfoam &,
¥ S, i R AR T
i & R wewa § wm
S EEd e R s
9=y R T 2

\(aa/msmr iqa@_qqa

(b) 179331 &K T

(c) 1813 % TR TR y
\‘k@ 1858 T Tatiie ‘an’q; 3fear we

147.ﬁqﬁrﬁaﬁ%ﬁmﬁlsszﬁ@ﬁm
gewta e ar, R wre # g
-3 AT wref wer e & 7

W A

(b) W7¢ &fr

(©) @t fug

(@) =i faforam A
40

8 143. Which of the following statements

about Srimanta Shankardeva is/are
correct ?

I.In the late fifteenth century
Shankardeva emerged as one of

the leading proponents of
Vaishnavism in Assam

2. He was the founder of Gaudiya
Vaishnavism

3. His teachings are known as
Bhagavati Dharma

4. He encouraged the establishment
of satra and naam ghar

Select the answer using the code given
below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1,3 and 4 only

“@ 1,2, 3and4

144. At which one among the following
places did the British East India
Company found its factory in the year
1611 ?

(a) Madras
(b) Masulipatam
ic) Bombay
(d) Balasore

145. Chronologically arrange the following
political events related to Indian
National Movement beginning from
the earliest :

41

GET IT ON
Google Play

1. Formation of Swaraj Party
2. Communal Award

3. Lucknow Pact

4. Simla Conference

Select the answer using the code given
below :

(@ 3,1,2,4
(®) 1,3,2,4
(© 21,43
@ 1,2,3,4

146. Which among the following Acts
provided for the establishment of a
Supreme Court of Justice at Calcutta
for Europeans, their employees and the
citizens of India ?

(a) The Regulating Act of 1773
(b) The Charter Act of 1793
(c) The Charter Act of 1813

(d) Government of India Act of 1858

147. Who, among the following, has
introduced a resolution in 1882 which
is also called the Magna Carta of
Local Self-Government in India ?

(a) Lord Macaulay
(b) Lord Canning
(¢) Lord Ripon

(d) Lord William Bentinck

B — AEBC-A-GAT
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148. freafifem § ¥ h-w W=, ER @' ﬁv@@ﬂ,ﬁqﬁi&a

b

148. Which one of the following terms is

R AT R? it W T mﬁﬁ;%: e associated with the practice of Sufism ? l”mf‘ ““'i:ﬁ:‘-‘;mze the
@ St Hifr, frw “ﬁﬁf o W‘" i ﬁm'" @) Jizya loicd avder in which they granted
9 I 1. IEEC (USA) (¢) Mugaddam 1. USA
@ 3% ' (d) Murid 2 6
frmfefeg fewamt 2. et Lank
iz A " 149. Consider the following features :
1. wikat & wenfa L 3. Japan
2. TerfyE wwar - - 1. Consent of the governed
: i 4. India

3. e &t @ weE & ul 4. WA 2. Political equality
S ¥ ¥ A el /R A3 g g g e R I G o mler below :
Biennecy Xaifea Which of the above feature/features
%/i ? o Wh @ 1,234 outline democratic rule ? (@ 1,2,3,4
@ ¥ 13K 2 ‘ 23,41 (a) 1 and 2 only ®) 2.3.4.1
(b) ¥ 23K 3 ' (b) 2 and 3 only
(c) 1,2 ﬁ 3 (C) b3 4.2 . (C) 1.2 and 3 (C) 1,342
@ 3 @ 3,41,2 (d) 3 only @ 3.41,2
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